

1. (1) [1] $|1+i| = \sqrt{1^2+1^2} = \sqrt{2}$
 [2] $|-2+3i| = \sqrt{(-2)^2+3^2} = \sqrt{4+9} = \sqrt{13}$
 [3] $|\frac{1}{3-\sqrt{3}i}| = \frac{1}{\sqrt{3^2+(-\sqrt{3})^2}} = \frac{1}{\sqrt{9+3}} = \frac{1}{2\sqrt{3}}$
 (2) [1] 5式: $\frac{a(a-2b)+2ab}{a^2-4b^2} = \frac{a^2}{(a^2-4b^2)}$
 [2] 5式: $\frac{x(x+1)+1-x}{x+1-x} = \frac{x^2+1}{1} = x^2+1$
 [3] 5式: $\sqrt{3}(\sqrt{2}-1)(\sqrt{2}+1) = \sqrt{3}(2-1) = \sqrt{3}$
 [4] 5式: $\frac{\sqrt{2}}{\sqrt{2}+1} \cdot \frac{1}{\sqrt{2}(\sqrt{2}+1)} = \frac{1}{(\sqrt{2}+1)^2} = \frac{1}{3+2\sqrt{2}}$
 $= \frac{3-2\sqrt{2}}{(3+2\sqrt{2})(3-2\sqrt{2})} = \frac{3-2\sqrt{2}}{9-8} = 3-2\sqrt{2}$ (1点)
 (3) [1] 5式: $\sqrt{5}-2+5-\sqrt{5} = 3$
 [2] 5式: $|(2\sqrt{6}-5)(2\sqrt{6}+5)| = |24-25| = 1$
 [3] 5式: $\frac{3\sqrt{3}}{\sqrt{3}i} = \frac{3}{i} = -3i \rightarrow \frac{3}{i} \times i = 3$
 [4] 5式: $\sqrt{2}i \cdot 3\sqrt{2}i = -6$
 (4) [1] 5式: $(1+2i)^2 = 1+4i+(2i)^2 = -3+4i$
 [2] 5式: $1+2i+1-2i = 2$
 (5) [1] 5式: $\sqrt{(\sqrt{2}+1)^2} = \sqrt{2}+1$
 [2] 5式: $\sqrt{2+2\sqrt{\frac{3}{4}}} = \sqrt{(\sqrt{\frac{3}{2}}+\frac{1}{\sqrt{2}})^2} = \frac{\sqrt{3}+1}{\sqrt{2}} = \frac{\sqrt{6}+\sqrt{2}}{2}$
 [3] 5式: $\sqrt{27-2\sqrt{50}} = \sqrt{(5-\sqrt{2})^2} = 5-\sqrt{2}$
 (6) 5式: $\sqrt{(\sqrt{2}-1)^2} = |\sqrt{2}-1| = 1-\sqrt{2}$ (∵ $\sqrt{2}-1 \leq 0$)
 (7) $\frac{8}{\sqrt{6-2\sqrt{5}}} = \frac{8}{\sqrt{5}-1} = \frac{8}{4}(\sqrt{5}+1) = 2\sqrt{5}+2$ [1]
 $2 < \sqrt{5} < \frac{5}{2}$ ∴ $6 < 2\sqrt{5}+2 < 7$ ∴ $a=6$ [2]
 $b = 2\sqrt{5}-4$ [3] ∴ $\frac{1}{a} + \frac{1}{b} = \frac{1}{6} + \frac{1}{2(\sqrt{5}-2)}$
 $= \frac{1}{6} + \frac{1}{2}(\sqrt{5}+2) = \frac{7+3\sqrt{5}}{6}$ [4]

2. (1) [1] $x = 5 \pm \sqrt{25-25} = 5$ (2重解)
 [2] $x = \frac{-3 \pm \sqrt{9-4}}{2} = \frac{-3 \pm \sqrt{5}}{2}$
 [3] $x = \frac{5 \pm \sqrt{25-28}}{2} = \frac{5 \pm \sqrt{3}i}{2}$
 (2) [1] $D = 4 - 20 = -16$ [2] $D = 1 - 4 \cdot \frac{1}{4} = 0$
 (3) 判別式 $D < 0$ ∴ $\frac{D}{4} = k^2 - (2-k) = k^2+k-2 = (k+2)(k-1)$
 $D = 0$ ∴ $k = -2, 1$
 (4) $\alpha + \beta = -\frac{1}{2}, \alpha\beta = \frac{1}{2}$ ∴ $\alpha^2 + \beta^2 = (\alpha + \beta)^2 - 2\alpha\beta = \frac{1}{4} - 1 = -\frac{3}{4}$
 (5) [1] $3x^2 - 7x + 5 = 0$ の解 $x = \frac{7 \pm \sqrt{49-60}}{6} = \frac{7 \pm \sqrt{11}i}{6}$
 $\therefore 3(x - \frac{7+\sqrt{11}i}{6})(x - \frac{7-\sqrt{11}i}{6})$
 [2] $2x^2 + 3x - 1 = 0$ の解 $x = \frac{-3 \pm \sqrt{9+8}}{4} = \frac{-3 \pm \sqrt{17}}{4}$
 $\therefore 2(x + \frac{3+\sqrt{17}}{4})(x + \frac{3-\sqrt{17}}{4})$
 (6) $x = x^2$ とおいて $2x^2 - x - 1 = 0, (2x+1)(x-1) = 0$
 $x^2 = -\frac{1}{2}, 1 \therefore x = \pm 1, \pm \frac{1}{\sqrt{2}}$
 (7) $P(x) = 1 - 4x + 10x^2 - 17x^3 + 10x^4 = 0$ 独立降下
 $\begin{array}{r} 1 \ -4 \ 10 \ -17 \ 10 \\ \underline{1 \ -3 \ 7 \ -10} \\ 1 \ -3 \ 7 \ -10 \ 0 \end{array}$
 $\therefore P(x) = (x-1)(x^3 - 3x^2 + 7x - 10)$ [1]
 $Q(x) = x^3 - 3x^2 + 7x - 10 \rightarrow Q(2) = 8 - 12 + 14 - 10 = 0$
 $\therefore Q(x) = (x-2)(x^2 - x + 5)$ [2] $\begin{array}{r} 1 \ -3 \ 7 \ -10 \\ \underline{1 \ -3 \ 7 \ -10} \\ 0 \end{array}$
 $P(x) = 0$ の解 $x = 1, 2, \frac{1 \pm \sqrt{19}i}{2}$ [3]
 (8) [1] $x \geq 0$ のとき $2x = x+2$ ∴ $x=2, x < 0$ のとき
 $-2x = x+2$ ∴ $x = -\frac{2}{3} \therefore x = (-\frac{2}{3}, 2)$
 [2] 両辺に $x^2 - 3x + 2$ をかけ $x(x-1) - 4(x-2) = x+3$
 $x^2 - 6x + 5 = 0, (x-1)(x-5) = 0 \therefore x = 1$ は重解
 $x = 5$
 [3] 左辺 ≥ 0 ∴ $x \geq 3$. 両辺に 2 をかけ $x+3 = x^2 - 6x + 9$
 $x^2 - 7x + 6 = 0, (x-1)(x-6) = 0 \therefore x = 6$

番号 氏名

3. (1) $\bar{z} = a - bi$
 (2) $\alpha + \beta = a+c + (b+d)i$ ∴ $\overline{\alpha + \beta} = a+c - (b+d)i$
 (3) $|z|^2 = a^2 + b^2$
 (4) 5式: $(a+bi)(c-di) + (a-bi)(c+di)$
 $= ac + bd + (bc - ad)i + ac + bd + (ad - bc)i$
 $= 2(ac + bd)$
 (5) 5式: $a^2 + b^2 + 2(ac + bd) + c^2 + d^2 = (a+c)^2 + (b+d)^2$ (1点)
 4. (1) $\sqrt{1+x} = \sqrt{1 + \frac{2a}{1+a^2}} = \sqrt{\frac{(1+a)^2}{1+a^2}} = \frac{|1+a|}{\sqrt{1+a^2}}$
 $-1 \leq a \leq 1$ ∴ $a+1 \geq 0$ ∴ 5式: $\frac{1+a}{\sqrt{1+a^2}}$
 (2) $\sqrt{1-x} = \sqrt{1 - \frac{2a}{1+a^2}} = \sqrt{\frac{(1-a)^2}{1+a^2}} = \frac{|1-a|}{\sqrt{1+a^2}}$
 $= \frac{1-a}{\sqrt{1+a^2}}$ (∵ $-1 \leq a \leq 1$ ∴ $1-a \geq 0$)
 (3) $\frac{\sqrt{1+x} - \sqrt{1-x}}{\sqrt{1+x} + \sqrt{1-x}} = \frac{1+a-a-1}{1+a+1-a} = \frac{2a}{2} = a$ (3点)
 5. $x^4 + 2x^2 + 4 = x^4 + 4x^2 + 4 - 2x^2 = (x^2+2)^2 - (\sqrt{2}x)^2$ ∴
 方程式 $(x^2 + \sqrt{2}x + 2)(x^2 - \sqrt{2}x + 2) = 0$ とおき
 (i) $x^2 + \sqrt{2}x + 2 = 0$ の解 $x = \frac{-\sqrt{2} \pm \sqrt{2-8}}{2} = \frac{-\sqrt{2} \pm \sqrt{6}i}{2}$
 (ii) $x^2 - \sqrt{2}x + 2 = 0$ の解 $x = \frac{\sqrt{2} \pm \sqrt{6}i}{2}$
 以上より $x = \pm \frac{\sqrt{2} + \sqrt{6}i}{2}, \pm \frac{\sqrt{2} - \sqrt{6}i}{2}$ (5)
 6. $x^2 = (a+bi)^2 = a^2 - b^2 + 2abi$
 $\therefore \begin{cases} a^2 - b^2 = -1 \text{ --- ①} \\ 2ab = \sqrt{3} \text{ --- ②} \end{cases}$ ②より $b = \frac{\sqrt{3}}{2a}$ を①に代入
 $a^2 - \frac{3}{4a^2} + 1 = 0 \quad 4a^4 + 4a^2 - 3 = 0 \quad (2a^2-1)(2a^2+3) = 0$
 a は実数 ∴ $a = \pm \frac{\sqrt{2}}{2}, b = \pm \frac{\sqrt{6}}{2}$ (複号同順)
 (3) (4)



7.
$$\begin{cases} x+4y-2z+4w=12 & \textcircled{1} - 2 \times \textcircled{1}, \textcircled{2} - 3 \times \textcircled{1} \\ -5y+10z-10w = \boxed{-15} & \textcircled{2}' (4-4 \times \textcircled{1}) \div 3 \\ -5y+9z-10w = \boxed{-18} & \textcircled{3}' \\ -5y+5z-7w = \boxed{-15} & \textcircled{4}' \end{cases}$$

$$\rightarrow \begin{cases} x+4y-2z+4w=12 & \textcircled{1} \\ -5y+10z-10w = -15 & \textcircled{3}' \\ -z = \boxed{-3} & \textcircled{3}' - \textcircled{2}', \textcircled{4}' - \textcircled{2}' \\ -5z+3w = \boxed{0} & \textcircled{4}' \end{cases}$$

$\therefore z = \boxed{3}$ $\therefore w = \boxed{5}$

$\therefore 5y = 10z - 10w + 15 = -20 + 15 = -5 \therefore y = \boxed{-1}$

$x = 12 - 4y + 2z - 4w = 12 + 4 + 6 - 20 = \boxed{2}$

(1) -15 (2) -18 (3) -15 (4) -3 (5) 0 (6) 3
(7) 5 (8) -1 (9) 2

8.
$$x^2 - a^2 = (2\sqrt{a-1})^2 - a^2 = 4(a-1) - a^2$$

$$= -(a^2 - 4a + 4) = -(a-2)^2$$

$\therefore \sqrt{x^2 - a^2} = \sqrt{-(a-2)^2} = \sqrt{(a-2)^2} i$

$$= \begin{cases} (a-2)i & (a \geq 2) \\ (2-a)i & (1 \leq a < 2) \end{cases}$$

9. Hint 列
$$\begin{cases} x+y+z=25 & \textcircled{1} \\ xy=50 & \textcircled{2} \\ z^2=x^2+y^2 & \textcircled{3} \end{cases}$$
 2解 \leq ① \times 3

$z = 25 - (x+y)$ 代入 $\textcircled{2}, \textcircled{3}$ $x+y = \frac{29}{2}$ $\textcircled{4}$

④ \times ② 代入 2次方程式, 解之得 2つの解 x, y は 2次方程式 $X^2 - \frac{29}{2}X + 50 = 0$ の解, 代入得 x, y

$x = \frac{29 - \sqrt{41}}{4}, \frac{29 + \sqrt{41}}{4}$ 代入 $\textcircled{4}$

$z^2 = (x+y)^2 - 2xy = \left(\frac{29}{2}\right)^2 - 100 = \frac{441}{4}$

$\therefore z = \frac{21}{2}$

以上 3通り $\frac{29 \pm \sqrt{41}}{4}, \frac{21}{2}$

(詳細)

$\textcircled{3}: \{25 - (x+y)\}^2 = x^2 + y^2$

$25^2 - 50(x+y) + (x+y)^2 = x^2 + y^2$

$\therefore 50(x+y) = 25^2 + 2xy = 25^2 + 100$

$x+y = \frac{725}{50} = \frac{29}{2}$ $\textcircled{4}$